Зачёт №5 по теме « Тригонометрические уравнения» 
10 класс. Сдать необходимо до 21.05.2020
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1)2cos’x—5cosx+2=0
2) sin 3x — 3cos 6x =2
3)8 cos’x—6sinx—3=0
3t x+tgx=0
S)tgx+ _1 =3
Cos® x
6) 3 sin® x + sinx cosx = 0
7) V3 sinx — cosx = 0
8) cos(x+30°) — sin(x+30°) =0
9) sin — 5 sinx cosx+6 cos> x =0
10) 3 sin® x + 2 sinx cosx =2
11) 4 sin® x — sinx + cosx =0
12) 2 sin® x —sinx— 1 =0 HauGonpumii KOpEHb Ha [_L; I ]
13) 5cos” — sinx cosx =0 CyMMy KopHe# Ha[ﬂ; 211 ] 2 2

14) V3 sin6x — 3cos6x =0 Haumenbumii KopeHn (_ 10 L)
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15) 2 cos’x + sin’x - 1=0,5 [ I I
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